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Question Number : 1 Question Id : 2549896247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which is a graphical representation of an application on a
computer desktop screen?

Options:

1. » Windows 95

2. = Windows Explorer
3. v Icon

4. = Taskbar

Question Number : 1 Question Id : 2549896247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

SofH & hiel, Ueh CTTTehelel AT Ueh HYST SEhclT Fhlol hl

ATthehel NUSieereT &7

Options:

1. » fasier 95 (Windows 95)
2. = Tasrel TFataY (Windows Explorer)

3. v 3TSehiel
4. » CTEREAN

Question Number : 2 Question Id : 2549896305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Operating System belongs to the category of:

Options:

1. = Integrated software
2. = CD-ROM software

3. » Application software
4, v System software



Question Number : 2 Question Id : 2549896305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MR BEeH forg Solr & 3geia 9T §7

Options:

1. = Socdlles HIFcadIT

2. » CD-ROM ditcair

3. * STITANTIRAT (TCeilehele TTHIT)
4, v TOFecH HiFeaay

Question Number : 3 Question Id : 2549896439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Full form of ROM is:

Options:

1. * Read Once Memory

2. v Read Only Memory
3. » Read On Memory
4. = Read Other Memory

Question Number : 3 Question Id : 2549896439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

ROM =T 9ot &7 7 §7?

Options:

1. = §Ig =g AANT (Read Once Memory)
2. v {15 a3idell AANT (Read Only Memory)
3. = {15 3T AART (Read On Memory)

4. » ¥ 31T AANT (Read Other Memory)

Question Number : 4 Question Id : 2549896564 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

Full form of SSD is:

Options:

1. v Sold State Device



2. = Storage Systems Division
3. » Single Sided Disk
4. = Standard Service Design

Question Number : 4 Question Id : 2549896564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

SSD T quT 9 1 87

Options:

1. v Oles Te 2a=T (Sold State Device)

2. = Taeol TOeeH f3deia (Storage Systems Division)
3. = TA9rer A28 BFF (Single Sided Disk)

4, = T35 AT 8918« (Standard Service Design)

Question Number : 5 Question Id : 2549896664 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT an input device?

Options:

1. = Joystick
2. = Keyboard
3. v Printer

4. = Mouse

Question Number : 5 Question Id : 2549896664 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

gAH | i W geqe f3arsq =gl &7

Options:

1. » SAIEch
2. = s
3. v e
4. % AT

Question Number : 6 Question Id : 2549896875 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

faeeT # O i 4T 33T 85 57
Options:

1. = fUex

2. = HllaleT

3. = HIATEH U

4, v TATH & (MS Word)

Question Number : 6 Question Id : 2549896875 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a hardware?

Options:

1. = Printer

2. » Monitor

3. = Magnetic tape
4. v MS Word

Question Number : 7 Question Id : 2549896313 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

Which one of the options is an example of Spreadsheet?

Options:

1. v MS Excel

2. » MS Word

3. = MS PowerPoint
4, = MS Access

Question Number : 7 Question Id : 2549896313 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

Areal & O sl a1 Togefic T Uk 30T 57

Options:

1. v MS Excel
2. = MS Word



3. = MS PowerPoint
4. = MS Access

Question Number : 8 Question Id : 2549896314 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

Which function is used to add the values in cells?

Options:

1. v SUM
2. » ADD
3. = TOTAL
4. = AVG

Question Number : 8 Question Id : 2549896314 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 WrongMarks: 0

el H ATl TEATd Fla o ol Fefoi@a # @ g
TeFeTal ShT 3TRNGT TohdT SITaT &7

Options:

1. v SUM
2. = ADD
3. = TOTAL
4. = AVQG

Question Number : 9 Question Id : 2549896382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Typical Hard disk size offered in a standard laptops for
standard office applications is typically:

Options:

1. » 256 MB
2.v 256 GB
3. % 256 TB
4. % 256 KB



Question Number : 9 Question Id : 2549896382 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: O

HTeleh of9eiq H AT 3T Utelarerel & folv were forv S
arel [afese g8 BTk &1 PR afese &7 & aidar gl

Options:

1. = 256 MB
2. v 256 GB
3. » 256 TB
4. = 256 KB

Question Number : 10 Question Id : 2549897582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

program resides in the ROM portion of a computer.

Options:

1. » Hardware
2. » Software

3. v Firmware
4. = Middleware

Question Number : 10 Question Id : 2549897582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

WATH Teh g & UA & 388 # @dr g

Options:

1. % BT8dAqT
2. = HIFEAIN
3. v BHAII

4. = AETI

Question Number : 11 Question Id : 2549897625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0




You have to send a softcopy of the printed paper document by
email to another person. Which of one of the devices would
you use for making the softcopy?

Options:

1. = Plotter

2. v Scanner
3. = Touchpad
4. = Webcam

Question Number : 11 Question Id : 2549897625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

afg 3R RRET 3o SaTed T SAT G@RT Higd TR EETaS
FT GTFchiuT Aslell & dr 37T GiFearur sele & o hg
STYRIUT hT 3T hidl?

Options:

1. = Taned (Plotter)

2. v Thel{ (Scanner)
3. = U8 (Touchpad)
4, = kA (Webcam)

Question Number : 12 Question Id : 2549897653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which one of the printers is the fastest in terms of PPM?

Options:

1. = Dot Matrix
2. = Daisy Wheel
3. # Inkjet

4. v Laser

Question Number : 12 Question Id : 2549897653 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

PPM & dcsf & i @ Wed god adof &7



Options:

1. = 3le Hf¢FT (Dot Matrix)
2. = 39T zarel (Daisy Wheel)

3.« SFIT (Inkjet)
4. v WIS (Laser)

Question Number : 13 Question Id : 2549897258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

A File Manager 1s a/an:

Options:

1. = Hard Disk

2. v Computer Program
3. = IT Expert

4. = Part of Control Unit

Question Number : 13 Question Id : 2549897258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

Uh WISl Vags (Hael) gl

Options:

1. = g% Bk
2.%?‘«@@'{%

3. % 3MEEr UFHUC

4, = 9T¢ 3T Feiel Jfate

Question Number : 14 Question Id : 2549898396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

Which option represents a Text Function in MS Excel?

Options:

1. » SUM
2. » AVERAGE
3. v FIXED



4.« COUNT

Question Number : 14 Question Id : 2549898396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Excel # i &T [dheqd Tk IFEC el T UidTaieca
AT &7

Options:

1. = SUM

2. = AVERAGE
3. v FIXED

4. = COUNT

Question Number : 15 Question Id : 2549898673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In MS Excel, A1 contains 7, B1 contains 9, and C1 has the
formula =A1+B1. The formula of cell C1 is now copied to cell
D1. What number would be displayed in cell D17

Options:

1. %7
2.% 9
3. % 16
4. v 25

Question Number : 15 Question Id : 2549898673 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Excel #, AT # 7, B1 # 9 gd &, 3ik C1 # g7 =A1+B1
BT &1 Fel C1 T Biden 3« o D1 9T iar fhar a=m g
el D1 # hiaT AT T&IT U eid gl

Options:

1. = 7
2. = 9



3. = 16
4. v 25

Question Number : 16 Question Id : 2549899430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the Tabs in the MS Word Ribbon, would you use for
setting the page size of the document?

Options:

1. = Design
2. * Home
3. v Layout
4. = Insert

Question Number : 16 Question Id : 2549899430 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

STFgAC & U7 =l HTSel I Ve Rl & o0 317 MS Word
Reer 7 TFafeiad & & fohT & T 96T a7

Options:

1. = Design
2. » Home
3. v Layout

4. = |nsent

Question Number : 17 Question Id : 25498911097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Webcam Is related to sharing of over internet.

Options:

1. = Text

2. » Audio

3. = MP3 files
4, v Video



Question Number : 17 Question Id : 25498911097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

dFhH ITclolc W S GTSTRIOT (IREr) 8 gafdd &l

Options:

1. = eFee (Text)

2. = 3ifsAr (Audio)

3. = MP3 wrzel (MP3 files)
4, v AT (Video)

Question Number : 18 Question Id : 25498911186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Full form of WWW is:

Options:

1. » World Wild Web
2. » Wide World Web
3. v World Wide Web
4. » World Wide Website

Question Number : 18 Question Id : 25498911186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

WWW &7 qoT &9 T 87

Options:

1. = Tes ases ad (World Wild Web)
2. » aET gef Aa (Wide World Web)
3. v Tes T8s ad (World Wide Web)
4. = o5 A58 dease (World Wide Website)

Question Number : 19 Question Id : 25498918435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

In which one of the following software would you find the
Pivot Table feature?

Options:

1. v MS Excel



2. = MS Word
3. = MS PowerPoint
4, = MS Access

Question Number : 19 Question Id : 25498918435 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

farafeli@d & @ ford drFeday A 39! [Uae ol Fhaur
faeref?

Options:

1. v MS Excel

2. = MS Word

3. » MS PowerPoint
4. = MS Access

Question Number : 20 Question Id : 25498920539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT true about computer files?

Options:

1. = They are collections of data saved to a storage medium.
2. » Every file has a file name.

3. v A flle extension is defined by the user to indicate the files
content.

4. = Files usually contain data.

Question Number : 20 Question Id : 25498920539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

FaofEd # 8 7 $YL ®Eal & TR H dcF a8l &7

Options:

1. » o TR AIZTH A @29 91T 2T T I8 &l

2. = Ucdeh WISel ol Ueh oTH BIT &l




3. v WIgell $T GHAT ST AT S & [T STAThRAT ZgNT
ISl Tadcelel ol IRATNT fohar STaT &

4, = ISl H HTATTIT: 3T 8T &l

Question Number : 21 Question Id : 25498922629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

When the Binary Numbers 0101 and 0011 are added, the
result would be:

Options:

1. = 1111
2. v 1000
3. = 0111
4. % 1011

Question Number : 21 Question Id : 25498922629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

S S8 e 0101 3T 0011 s fev &ra &, ar 9oRonH
AT EIT?

Options:

1. = 1111
2. v 1000
3. = 0111
4. = 1011

Question Number : 22 Question Id : 2549896195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



A network that exists over a large-scale geographical area and
connects different smaller networks, this ensures that
computers and users in one location can communicate with
computers and users in other locations. What is this network
called?

Options:

1. = LAN
2. v WAN
3. = TAN
4. « NAN

Question Number : 22 Question Id : 2549896195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

U sieash St 3 YA W sanfoe &7 # Alge ¢ 3 Affee
Eﬂ%maﬁm%’,ﬂggﬁﬁﬂd AT & T Teh TATT T
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Options:

1. = LAN
2. v WAN
3. = TAN
4. = NAN

Question Number : 23 Question Id : 2549897330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the full form of HTMIL.?

Options:

1. v Hyper-Text Markup Language
2. » Hyper-Text Meta Language
3. » High Textual Meta Latency



4. = High Text Markup Latency

Question Number : 23 Question Id : 2549897330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

HTML T qoT 9 71 87

Options:

1. v BIBU-da¥e HIH3T ogdal (Hyper-Text Markup Language)
2. = BI3UL-cFEC AeT ofdder (Hyper-Text Meta Language)
3. = gIg ¢Fegafel AT ocar (High Textual Meta Latency)
4. = B CFEE ATRAT oledr (High Text Markup Latency)

Question Number : 24 Question Id : 2549897340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which file format is used to save batch file?

Options:

1. = b.file
2. » batch
3. v bat

4. % hbat.f

Question Number : 24 Question Id : 2549897340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

8T IS I Tgolal & [olT il T WISl BIAE T STAT T
ST &7

Options:

1. = b.file
2. » batch
3. v bat

4, = bat.f

Question Number : 25 Question Id : 2549897908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



NEFT is most closely related to:

Options:

1. v Internet Banking
2. = E-Commerce

3. » Branch Banking
4. = Point of Sale

Question Number : 25 Question Id : 2549897908 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

NEFT ged 3719 Tashear @ o gerad &

Options:

1. v claic dfemar
2. % S-HIAG

3. » ST Sfehar

4. % gise 3H o

Question Number : 26 Question Id : 2549898203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which one of the following is NOT a DBMS?

Options:

1. = MS Access
2. % Dh2

3. = Oracle

4. v Chrome

Question Number : 26 Question Id : 2549898203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

fArafe™&a # @ i @7 [dhed DBMS gl &7

Options:

1. = MS Access
2. % Db2



3. = Qracle

4. v Chrome

Question Number : 27 Question Id : 25498913369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The smallest portion of an image or display that a computer is
capable of printing or displaying is called:

Options:

1. = Bit

2. v Pixel
3. = Matrix
4. = LCD

Question Number : 27 Question Id : 25498913369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

U Bid (Image) IT T3ECel T G BIeT fgedr o8 F0ged
M wta a1 weRfa e 7 987 § 39 97 Fal AT &7

Options:

1. = We (Bit
2. v WA (Pixel)

3. = Afera (Matrix)
4, = Uerdiar (LCD)

Question Number : 28 Question Id : 25498924011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which one of the following is a/an example of open source
Operating System?

Options:

1. = Windows 10
2. * macOSs
3. v Linux



4, = Android

Question Number : 28 Question Id : 25498924011 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

farafaf@d & @ *ie @1 v ol AT R e w1 vh
3ETEY0T &7

Options:

1. = Windows 10
2. * macOS

3. ¢ Linux

4. = Android

Question Number : 29 Question Id : 25498924387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

1s a standardized medium to propagate communication
between the client and server applications on the World Wide
Web.

Options:

1. = Computer Network

2. v Web Service

3. = Web Portal

4. = Internet Service Provider

Question Number : 29 Question Id : 25498924387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Jes qg5 A9 T Follsc T HAT (TTelleherel) 3w
& S HAR T TH@RA Fla & [T U Alelshihd ATETH ¢

Options:

1. * FYT slcaeh
2. v A9 €9
4. » 3Helc FAT MaATEsT




Question Number : 30 Question Id : 25498925186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Communication signals are transmitted through optical fibers
using:

Options:

1. = Electrons
2. » Magnetism
3. » Electricity
4. v Light

Question Number : 30 Question Id : 25498925186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

I Hehdl I T TRANET FY o ICEhol HBIIEL
ATeTH O UlNg oRar Srar &

Options:

1. = Zelacied (Electrons)
2. = Haaifewd (Magnetism)
3. = Zellaeraer (Electricity)
4. v o3¢ (Light)

Question Number : 31 Question Id : 2549896229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

IR AT TRAT TR &7 agBe W FR-IF Sid & of 3Rt
T 339 5T Flel & qoATd |

Options:

1. = 3l Ueh iuT (UTT) & ol dIgy
2. = 38 Ueh WSS ohl g 9d h olal AIGU
3. = 39 IIg T ol AT

4. v 38 FHAF eIl el AIMGT

Question Number : 31 Question Id : 2549896229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



If you are going to a website you often use, instead of having
to type in the address every time, you should

Options:

1. » make a copy of it
2. % save it as a file

3. = memorise it

4. v bookmark it

Question Number : 32 Question Id : 2549896290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The convenient place to store contact information for quick
retrieval is:

Options:

1. * message box
2. » address box
3. v address book
4. = quick box

Question Number : 32 Question Id : 2549896290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

calld geviied & folv Hush SieThil Faige Filal H1
GIECIS IR gl

Options:

1. = AAT T H (message box)
2. = U3 §i9d H (address box)
3. v U3H §F H (address book)

4. = Tog+ &fd H (quick box)

Question Number : 33 Question Id : 2549896509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In MS Word, menu shows New, Open and Close
commands.



Options:

1. v File
2. » Edit
3. = Insert
4. » View

Question Number : 33 Question Id : 2549896509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

MS Word #, A & o¢, Tt 3R 52 FAS fezmar g

Options:

1. v FIgel
2. = UfsT
3. = 3AC
4., = T

o,

Question Number : 34 Question Id : 2549896618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which tab of the ribbon do you need to see the document
views that are available in MS Word 20137

Options:

1. = Insert
2. » View
3. v Page Layout
4. = Home

Question Number : 34 Question Id : 2549896618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word 2013 & R & ¢S 9T 3T 39ols SEAISS
79g 3T Tehd o
Options:

1. = 80C
2. % T

o,




3. v U W3 C
4w

Question Number : 35 Question Id : 2549896658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a font style?

Options:

1. = Bold

2. = Italics

3. = Regular

4. v Strikethrough

Question Number : 35 Question Id : 2549896658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Tl # & i &7 Biec el dal 57

Options:

1. = S8

2. % Bcllelh
3. = TP

4. v TLI3RY

Question Number : 36 Question Id : 2549896689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

When you create a chart on a separate sheet in the same
work-book, it is called a:

Options:

1. v chart sheet
2. = embedded chart
3. = view sheet
4. = view chart

Question Number : 36 Question Id : 2549896689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



Sl 3T Ueh &1 dehgeh A Teh 3700 ¢l 0T Teh ©IE Seltd & ol
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Options:

1. v TIC ofic

2. % UFsag dIc
3. = q%m
4. = =g €&

Question Number : 37 Question Id : 2549897501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

Select the statement which is FALSE with respect to MS
PowerPoint Software.

Options:

1. = A video can be inserted in a slide
2. * An audio can be inserted in a file

3. = Selected text from a MS Word document can be pasted in
a slide

4. v A budgeting exercise with calculations can be easily done
in a slide

Question Number : 37 Question Id : 2549897501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS PowerPoint Gi%caday & T8 H Tardeli@ad & O 38
T FT ITIA FI|

Options:

1. % T3S H IfsAT STl ST Hohdl &

2. % Ush WIS H Uah AT STT ST Hehdll &

3. » MS Word g&dmael 8 IaTad U6 ([Helecs dFee) Fr
T8 H RIYhET ST bl &




4. v TATZS H IUEAT (helholRlel) & T Fic HI HT G
MEATAT 8 IT 3T GhdT &

Question Number : 38 Question Id : 2549898055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

charts show the size of items in one data series,
proportional to the sum of the items.

Options:

1. = Line
2. = Bar
3. v Pie

4. = Stack

Question Number : 38 Question Id : 2549898055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

qTE Teh 3¢l RISl H SEHAT T 3R B@ET &, ol
IFCAT K AT T Fe[Urcll BT &

Options:

1. % oITSel
2. 8

3. v U8
4. = TFH

Question Number : 39 Question Id : 2549898084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Chart object inserted into a worksheet is referred to as:

Options:

1. v Embedded chart
2. » Stock chart

3. = Surface chart

4. = 3-D chart

Question Number : 39 Question Id : 2549898084 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

FRIGRETRT (Thelie) H omffer fho v A sifesise i
Fed €l

1. v TFE3E dIC

2. % Tl dIC
3. = ghy OIE
4. » 3-D TAE

Question Number : 40 Question Id : 2549896966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

1s a virtualized pool of resources, from raw compute
power to application functionality, available on demand,
using internet.

Options:

1. » Computer Servers

2. v Cloud Computing

3. = Data Centres

4. = Computer Networking

Question Number : 40 Question Id : 2549896966 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

RERIST 1 AR (Te3fer) qef 8IdT &, $eleic &
TNIT I gu, HATAT Feege Ay & HATIRET KA AR

gk, HIIT 9T 39clse &IaT &l

Options:

1. » HYT Ha

2. v Foll38 ciwb-a.ljédl
3. % 3T ded
4. = FHTY Acalehd



Question Number : 41 Question Id : 2549897098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

The Gmalil is similar to an email folder.

Options:

1. v label

2. % tab

3. = directory
4. » address

Question Number : 41 Question Id : 2549897098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Gmail SHT Hiesd & AT gl

Options:

1. v ool
2. ® &8

3. » STIFAT
4. = 9T

Question Number : 42 Question Id : 2549897437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following options should be selected to return
the drop cap to normal text in a MS Word document?

Options:

1. = Dropped
2. » Format
3. v None

4. » Edit

Question Number : 42 Question Id : 2549897437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word g&didel & TTHT U6 # ST 9 agd el & olg
T & @ Fid a1 fahed JaT ST ABT?

Options:




1. = Dropped
* Format

¢ None

= Edit

I

Question Number : 43 Question Id : 2549898035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

"Protect Sheet” and "Protect Workbook” options are available
in MS Excel under the tab of the ribbon.

Options:

1. = Insert

2. » Formulas
3. = Data

4. v Review

Question Number : 43 Question Id : 2549898035 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

e & & & dgd MS Excel # "wieae ¢fie" 3T
"MeFT qehgeh" Tahed ITelsy g

Options:

1. = Insert

2. = Formulas
3. = Data

4. v Review

Question Number : 44 Question Id : 25498910466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What is the function of the command(s), "Format ==> Change
Case ==> Uppercase”, in MS Word?

Options:



1. = To capitalise the first letter of a sentence and leave all
other letters as lowercase

2. = To exclude capital letters from your text
3. v To capitalise all of the letters

4. = To capitalise the first letter of each word and leave the
other letters lowercase

Question Number : 44 Question Id : 25498910466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word & aTE(s), "wife ==> Iq57 FF ==> 3790hg" &
FIAT FI 57

Options:

1. % TTFT & Ugol &L hl hiUcol Fla & oV AT 3eg FAT
& T oN3IHT & &7 H BT 3

2. % 3Ud dFEc H F3 (FiUcel) & I F&L Fla & [T
3. v GHT 378 T F37 (FiUcd) Fe & Tolv]

4. % YUk G oF Ugel &Y I 3T (Shivcd) i 3T 3T
37ET T AT H Biga & felv]

Question Number : 45 Question Id : 25498910533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

SMTP and POP3 is most closely related to:

Options:

1. * Cloud Computing

2. v email

3. » Computer Networking
4. » Internet

Question Number : 45 Question Id : 25498910533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

SMTP 3iT POP3 @s& e & g gafaa &

Options:



1. * FolI38 ciwqja‘au
2. v SH
3. * YR Acdiohal

4, » IHaC

Question Number : 46 Question Id : 25498913284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

MS Excel recognises macro-enabled workbooks by the file
extension:

Options:

1. » XIsx
2. v Xlsm
3. = XIS

4. = XIXS

Question Number : 46 Question Id : 25498913284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Excel for@ WIgel UFHCUT & HRI-T&TH Tehalsh ol TgTel

FIAT &7
Options:

1. = _xlsx
2. ¢v Xlsm
3. % xls
4. = xlxs

Question Number : 47 Question Id : 25498913289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

"Trace Precendents” and "Trace Dependents” command
options can be found in:

Options:

1. v MS Excel



2. = MS Word
3. = MS Access
4, = MS PowerPoint

Question Number : 47 Question Id : 25498913289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

gehlT &7

Options:

1. v MS Excel

2. = MS Word

3. » MS Access

4. = MS PowerPoint

Question Number : 48 Question Id : 25498913309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

You can animate text and objects in

Options:

1. = MS Excel

2. » MS Word

3. = MS Access

4. v MS PowerPoint

Question Number : 48 Question Id : 25498913309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

T H dFre 3T 3isoided &I UlaHAc FT Thd &l

Options:

1. = MS Excel

2. = MS Word

3. » MS Access

4. v MS PowerPoint




Question Number : 49 Question Id : 25498910499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

You can a Table of Contents in a MS Word document using the
tab of the ribbon.

Options:

1. = Layout

2. = Design

3. v References
4. = View

Question Number : 49 Question Id : 25498910499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

et ok ¢F T 3YAET HwLah MS Word SEadaT &
GTHIT T Tk dTTolhT T Toha &

Options:

1. = Layout

2. # Design
3. v References

4. = View

Question Number : 50 Question Id : 25498910552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

"Indent” in MS Word relate to:

Options:

1. v Left, Right
2. = Top, Bottom
3. = Before, After
4. = Even, Odd

Question Number : 50 Question Id : 25498910552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

MS Word & "$3c" fre & Teafia &7

Options:



1. v Left, Right
= Top, Bottom
Before, After
= Even, Odd

I
®

Question Number : 51 Question Id : 25498918939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Sort command is NOT available in:

Options:

1. = MS Excel

2. » MS Word

3. = MS Access

4. v MS PowerPoint

Question Number : 51 Question Id : 25498918939 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

hHTE TSl H 3Ucsy gT &l

Options:

1. = MS Excel

2. = MS Word

3. » MS Access

4. v MS PowerPoint

Question Number : 52 Question Id : 25498918945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

Which of the following can NOT be used a source of data for
mail-merge?

Options:

1. = Qutlook Contact List
2. = MS Excel
3.« MS Word



4. v MS PowerPoint

Question Number : 52 Question Id : 25498918945 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

faTei@aT A& & a1 Ad-Aw & T 27 & Iig 1
3SYAET Al RAT ST TohdT &7

Options:

1. = Outlook Contact List
2. = MS Excel

3. » MS Word

4. v MS PowerPoint

READING COMPREHENSION

Section Id : 2549893353

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5
Sub-Section Number: 1
Sub-Section 1d: 2549893366
Question Shuffling Allowed : Yes

Question Id : 25498920803 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)



The Growing Ditch

We take water for granted. We can gel as much of it as we
wanl by turning on a tap, drawing il [rom a well or laking it
[rom a river. Bul water 1s precious. History has been shaped
by water, No civilization has prospered without enough water
supplies around it. The Indus Valley Civilization arose on the
hanks of the river Indus. Indian kingdoms flourished along
the courses of the river Ganga and Kaveri. In ancient
Mesopotamia, people waged war for control of the life -giving
rivers Tigris and Fuphrates. When no more water was left or
became unusable, civilizations died.

Are we laking enough care of this precious commodily? We
waste water and pollute it. The case of Malappadu, a village in
Guntur district of Andhra Pradesh proves this. This village is
situated on the banks of the river — stream Chappadibagu.
Less than 1000 people known as Lambadas live here with
their cattle. The cattle drink water from this stream. Around
1977, this peaceful village became the victim of a strange
disease. The cattle developed diarrhoea and within a few days
sullered paralylic strokes. This was [ollowed by more
complications and untimely death. Scientists who investigated
the disease found that the stream was polluted with lead
hased chemicals and the cattle had died of lead poisoning. The
Government of Andhra Pradesh immediately ordered a
nearby factory to stop poisoning the stream.

The tragedy at Malappadu is a typical example of the
poisoning of rivers and lakes Dby irresponsible flaclory
management. Industrial waste products conlaining dangerous
chemicals, which may kill cattle and even human beings, are
thrown into nearby lakes, streams and rivers.

We are slowly poisoning our world. Nature took thousands of
years to establish huge underground supplies of water which
we are carelessly using up. Thoughtlessly we are destroying
the heauty of sparkling streams and deep, blue lakes.



Sub questions

Question Number : 53 Question Id : 25498920804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Why do civilizations grow around water bodies?

Options:

1. * Water 1s thought to be available everywhere.

2. v No civililisation can exist or flourish without water.
3. = People take care of the river they live close by.

4. = People can easily throw their garbage in the river.

Question Number : 54 Question Id : 25498920805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

What is the importance of the Malapaddu case of 19777

Options:

1. * Media reports made the people aware of water pollution
of the Chappadibagu stream.

2. » The Malappadu incident compelled the Lambadas to
appeal to the State Government for saving their cattle.

3. * The Malappadu incident is the only example of water
pollution in independent India.

4. v The government of Andhra Pradesh stopped a factory
from throwing chemical waste in the nearby stream.

Question Number : 55 Question Id : 25498920806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What happened to the cattle which drank water from the
river-stream Chappadibagu?

Options:
1. v The cattle had diarrhoea, suffered paralytic stroke and
finally died when more complications set in.

2. = The scientists continued with their research on the cause
of the strange cattle disease because they had added some
chemicals to purify the stream water.



3. = The cattle of the Lambadas were of a rare breed and
hence they could not survive the impure water.

4. = The cattle suffered because of a particular type of
water-weed which choked them to death.

Question Number : 56 Question Id : 25498920807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

How are we, human beings, carelessly destroying a precious
resource like water?

Choose the correct combination of the statements given below.
1.by releasing chemical wastes from factories and other
industries in rivers, lakes, and seas.

2.by dumping sewage in rivers or other water bodies.

3.by not checking irresponsible factory owners from harming
the water sources.

4.by compelling the authorities to take strict action against
law breakers.

Options:

1. 234
2.v123
3.x1214
1. x1234

Question Number : 57 Question Id : 25498920808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

What would be a suitable title for this passage?

Options:

1. = Water —a precious resource

2. » Water —its relation with human beings
3. v Water pollution on the rise

4. = The changing river course.



Question Id : 25498920803 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)



g5l TS

FH Tl FT Herd o0 HAFA ©| S F A6 HIh, FC H
Eied OT Al J 55 Toder O 3947 UTAT Wed R Hehd &
oifehel UTeil FSATS &1 SO & 9T o e Bar & ugied
ool Tfel & &= 1 FeTAT A Fh 74 g% ¥y
7ar % Te wr fy = geaar s o A e aE F
mﬁ:m&r—m&rm?ﬁirmﬁﬁa:rﬁm;ﬁmwm
HAMIFGT #, AR o SAda-aider diedl edad HT I
& Teraur F Tolv T& e Se Orelr S awr A7 Ao g
IgT, T TITATT T @ T

T &H FH Al g¥q S Tt SEHA T T8 57 & q0alf
FHlE Hle ¢ AN S TgT w81 AT Weer & et el &
U AT ATACHTS ST ATHAT A5 Hifad FHal §1 T8 74
TOITSENE] URT S F T W RUT § wFEs F e A A
arel 1000 & off o AT 3= gepat F @rer wEr TEer E1 e
SH UNT & oIl g g1 1977 & 39, 98 9 qel ag O
AT SANT &7 o g amar 79T & gF5 g wer e AT
ﬂﬁiﬁ?l’f%?ﬂﬂmmmmaﬂﬂmqsﬂﬁmﬂ?mﬁm
Sfeaa dar g% AT FHART AT @ %1 e dantes A
TfET S dETy Fr F= F I g TR oanr Jear-
HreTfid TERET F FR0T ugiad g7 g o iy mafeet & ae
STl ﬁﬂrgﬁ’rﬁr:&iﬁl FY WEST TR o 9HT &t
SR Sl W Uehat & o0 i o b el s amder fean

HIETOTg =T JMET I TSFAg el weresT anr wiaat 3T
et Fr ST g F ow RBftree s & =maee
mmmﬁﬁ“gwaﬂﬂﬁ%ﬁaﬂﬁlﬁm,ﬁﬂﬂﬁﬁﬁaﬁ
Afe=t 7 ek T ST &

BH M-y FArd g & e gar @ & vl & e
kT TEemer sIfATE MY TS FA & TOU gl Hiel sEne
& Tord &9 oTamEr |/ 3I99Er w1 12 8| &F e aR o ast
gl




Sub questions

Question Number : 53 Question Id : 25498920804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

EIdTT STel JTIT & AU FA7 Anaa adr §7

Options:

1. % Ulail & S8 3Yelsel AT ST &

2. v UTell & ToelT IS T His[g &l & Gehdll & AT Fel-
el STEl Hehell &

3. = o9 3T AT T ©IToT T & olgT I & &l

4, = ET T & el H 39T T theh Tohed &l

Question Number : 54 Question Id : 25498920805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

1977 & HATelTITg ATHe T FAged AT §7

1.« Fifsar Rt o S BT AR 4R % S e &
SR # STeThRT &

2.wmﬂtcn§£ram?rwmqw aﬁmﬁwpﬁﬁwﬁ%
fow ToT TR & 3dTel ta & T Aoy R

3. * HATTATg Tl Faad AR H STol YGNUT T ThATA

EARSLI]

4. v 3T T2LT TLhR o I FT ORT H IR T Fehal
T FRETA T Tk ST

Question Number : 55 Question Id : 25498920806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

oAl shT <ICUTSSITE] ONT & UTell Wiot dTel AT & |rer
g377?

Options:




1. v AARAT Y & o a0 3R F el & Ml ohar 1
ek 95T AT 3T 3ad: 3R 318« Sfecaare fer adar o 3T
TETHRIR AT &1 STdr 2|

2. % TATeThl o e AL 9T & el T hT FRT I&T
FOIfR Jeaiet IRT STal aﬁ%ﬁaﬂﬁaxﬁv?a TGRS T GTail
H THemar ol

3. » FNC & AQHT Zele i%dl & F 3N TV T 3G
Oreil & &9 a8l Y0

4, = HAILT & T [AAY YR & U6l & EIIIIR & hROT
qIfed &F 90 58" 3T AT &r a5

Question Number : 56 Question Id : 25498920807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

&H, ST, TATar & 9TaT sl dig o Ueh 3olHIel AT i
S oS¢ HhL I8 &7

A U 10 s o TET IS Rl Tdel |

1. ffe=d, sirell 3N @l & FREmE A 3=g se@en @
Tafas FIY F BIZHT

2. AfAT AT 3 STl Tohrar A Trder sTUer Fiek|

3. I-FSIFAGR therdl ATTOIhT T UTeil o BT 1 sfhellel
YgTTe § &l Uohd &

4. STelel ISl TTal & WeTh F&d FRATE ot & ToIT

SIREIEC RG] AT LTl

Options:

1. = 2 3 4
2. v 123



3. =124
4. = 123 4

Question Number : 57 Question Id : 25498920808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

3 37T & folv 3ugeFd < a7 glam?

Options:

1. » Sfel - U SEAcT GHTH

2. « Sfol - Al & AT FHR T
3.&?33{@3}3:%

4. = FET FT SEeIdl HT

QUANTITATIVE APTITUDE
Section Id : 2549893354
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Sub-Section Number: 1
Sub-Section 1d: 2549893367
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What should come in place of the question mark (?) in the
following question?

5163 — 4018 + 3209 = 7

Options:

1. = 4174
2. % 4264



3. = 4804
4. v 4354

Question Number : 58 Question Id : 25498914223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

e @a 9o & wed BEd (?) & TUT 9 FiF O TEar M
5163 - 4018 + 3209 = ?

Options:
1. = 414
5 & 4264
3 = 4804
4. v 4354

Question Number : 59 Question Id : 25498914252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Rita investad 252 more than Sunil. Sonil investad 30% less than Abhinay, who invested 36,000, Whart is the fatio
amaonnt that Rita invasted to the total amonnt invested by all them together?

Options:

1. & 35:104
2 % 13:29
3. % 101:36



Question Number : 59 Question Id : 25498914252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

I o gerer W 25% HOE R T gee o AT & geer § 30% &5 HEe R S 6,000
wor forder | O garo @l & o2 oy it 39 ol A Ay fr @ ofr & asgne == g

Options:

1. = 35:104

5. & 15190

3. » 101 :36

4. v 35:103

Question Number : 60 Question Id : 25498914177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In-a primary school the average weighl of male students 15 659 kg amd the average weight of female students is 37 kg, IT
the average weight of all the students (both male and female) is 60.3 kg and the number of male sfudents o the school is
66, what is the number of female students in the schoal?

Options:
1. % 154

7 % 162

3. % 168

4 » 112

Question Number : 60 Question Id : 25498914177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

v wuiEE Remww # ot & Fieg v 65.9 e i@t ot & s e 57 S d ol
it Pt (o A oeT ) s atrT M G0 EEm R ow Rermw o S Ewar 66 ¥
A FemeE § ot fr we e 37

Options:



1. = 154

2 x 162
3. » 168
4, v 112

Question Number : 61 Question Id : 25498914267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What should come in place of the question mark (?) in the following number series?

9 19 40 383 ? 345 0696
Options:
1. = 162

? « 170

3. % 175

A % 166

Question Number : 61 Question Id : 25498914267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

g 9ed 7 9eF e (7) & W W #iF @ &3 JEt?
9 19 40 83 ? 345 696

Options:

1. = 162



2. .« 170

3. % 175

4. » 166

Question Number : 62 Question Id : 25498914203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

What would be the compound interest accrued on an amount of T 7.400 @ 13.5% p.a at the end of two years?
(rounded off to two digits after decimal)

Options:

1. = Z2.136.87

9 x ¥230681

3 & %2,032.18

$2.132.87
4. v

Question Number : 62 Question Id : 25498914203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

7,400 7o $r TR 9T 13.5% F8F 2T W TSI TFEE =TS 3 39 g A g (gemeE ¥ A
21 3F TF)
Options:

1 % 2136.87 39T

2 x 2,306.81 FqT



3 % 2,032.18 TUC

4 o 213287 T

Question Number : 63 Question Id : 25498914256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Two-thirds of the first number is equal to the cube of the second number. If the second number is equal to ravekve per
cent of 50, what 15 the swm of the first and the second number?

Options:
1. ¢ 330

4 % 372

Question Number : 63 Question Id : 25498914256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

UEAT TEA # 3 TEE gl UEd § u4 & T 2| ofE gl T 50 ¥ 12% F =7 g, AT uEer
T ZFdr WA & 4 #4487

Options:
1. « 330
2 % 360

3. % 390



4. = 372

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549893355

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6
Sub-Section Number: 1
Sub-Section 1d: 2549893368
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O

Which of the following word will come third if all of them are
arranged alphabetically as in a dictionary?

Options:

1. = Intense

2. » Intellect
3. v Intend

4. = Intelligent

Question Number : 64 Question Id : 25498910039 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

TAFATel&T # T i AT 206 ATALT WM ATE 3T TAT hr
aﬁwﬁwamﬁw%mﬁwmw

Options:

1. = Intense
2. = |ntellect

3. v Intend



4, = |ntelligent

Question Number : 65 Question Id : 25498910126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Select the option that is related to the third term in the same
way as the second term is related to the first term.

Enough : Excess :: Sufficiency : ?

Options:

1. = Adequacy
2. v Surplus

3. = Competency
4. = Import

Question Number : 65 Question Id : 25498910126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Ao @&d H, & Th Nh J T 2Nl eegl & &g T
e goer & 3R = & SET RW® Tk ereg faar 3m § Sieieh
G efec, & 97 Tashedl # & 56 Wb WIed Toham STeTT §,
Sraa arar eser o d &b 38T UhR &l el TS & I
o TR T 999 3 = ST & o=l & o &1 3=a

i g
[ahed ol |

e AARed ; &AAT ;7
Options:

1. = gATCAT
2. v Ty
3. = QAT
4. % AT

Question Number : 66 Question Id : 25498912841 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 WrongMarks: 0

Instruction: Study the following series of alpha-numeric-
symbol combination and answer the question that follows.

Aa@6DU3&*SF8ES$SG2H#49LN3UVZ60AT7CS8

(Question: How many symbols are there in the above
arrangement each of which i1s immediately preceded by but
NOT immediately followed by a letter of English alphabet?

Options:

1. v Nil

2. = One
3. Two
4. = Three

Question Number : 66 Question Id : 25498912841 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

TeaTaEd auT-HEaT-vdTeh HATetel T STl T eIl
3T 39 915 & 9= W T 3ca7 o

a@6DU3&+*sF8ESG2#49LN3UVZE
xA/7C28

SRIFT SFGTAT A WF fohclel Uik &, Seteh T ugel Uek
ST gol & Qfehel I a1e T AT qoT 7T &

Options:

1. v 9T
o,

2. % U

3. % @l



4, % el

Question Number : 67 Question Id : 25498912895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

I o9 for iel &7 37&TT-57%el QU av f&gH 1 drefel )
Y

Ueh Aol H folehead! 38T & s H B I & T Fear
H UH HH & SIar &l

Options:

1. = BGKNPR
2. = CINRTU
3. v EJNQST
4. = LQUXAP

Question Number : 67 Question Id : 25498912895 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Find out which of the letter-series follows the given rule:

Number of letters skipped in between adjacent letters in the
series decreases by one.

Options:

1. * BGKNPR
2. » CINRTU
3. v E[NQST
4. » LQUXAP

Question Number : 68 Question Id : 25498919622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0



Select the alternative with the most appropriate description
about these three words.

Devika Rani : Sohrab Modi : Raj Kapoor

Options:

1. = They were great directors.
2. * They have largest number of films to their credit.
3. v They received the Dadasaheb Phalke award.

4. = They were honoured with the much coveted award
‘Padmashree’.

Question Number : 68 Question Id : 25498919622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Question Number : 69 Question Id : 25498919672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



The following question, there is a certain relationship
bhetween two given number on one side of : : and one number
is given on another side of : : while another number is to be
found from the given alternatives having the same
relationship with this number as the numbers of the given
pair bear. Choose the best alternatives.

3265 :4376::4673:7

Options:

1. = 2154
2. % 3562
3. = 5487
4. ¢ 5784

Question Number : 69 Question Id : 25498919672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O
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3265 : 4376 : 4673 : 7

Options:

1. » 2154
2. = 3562
3. = 5487
4, v 5784



GENERAL AWARENESS

Section Id : 2549893356

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6
Sub-Section Number: 1
Sub-Section 1d: 2549893369
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549895999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Who granted the permission to establish the French factory at
Masulipattam?

Options:

1. v Abdulla Kutub Shah
2. = Nasir Jung

3. » Muzaffar Jung

4. = Salabat Jung

Question Number : 70 Question Id : 2549895999 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Question Number : 71 Question Id : 2549899698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0



In the uterus, the embryo gets its nutrition through a
structure called:

Options:

1. = fallopian tube
2. v placenta

3. = uterus

4. » ovaries

Question Number : 71 Question Id : 2549899698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 72 Question Id : 2549895243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

In Export sector, the term ECGC is related to:

Options:

1. = export promotion

2. v export credit insurance

3. = export quality certification
4. = export statistics publication

Question Number : 72 Question Id : 2549895243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Question Number : 73 Question Id : 2549895512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Vacuole is covered by single membrane called:

Options:

1. = Plasmalemma
2. = Cell membrane
3. v Tonoplast

4. = Cell wall

Question Number : 73 Question Id : 2549895512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0
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Question Number : 74 Question Id : 2549899647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0

The new GDP series released by the CSO in February, 1999 is
with reference to base price of:

Options:

1. = 1991-92
2. % 1992-93
3.+ 1993-94
4. » 1994-95



Question Number : 74 Question Id : 2549899647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O
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Options:

1. = 1991-92
2. = 1992-93
3. v 1993-94
4. = 1994-95

Question Number : 75 Question Id : 2549899656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0

Which one among the following is a ‘Hot Spot’ for biological
diversity in India?

Options:

1. v Western Ghats
2. » Sundarbans

3. » Chilka Lagoon
4. » Eastern Ghats

Question Number : 75 Question Id : 2549899656 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: O
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Mock

Group Number : 2

Group Id : 2549892325
Group Maximum Duration : 5

Group Minimum Duration : 5

Show Attended Group?: No

Edit Attended Group? : No

Break time: 1
Mandatory Break time: Yes

Group Marks: 0

Isthis Group for Examiner?: No

English Typing Test

Section Id : 2549893357

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0
Sub-Section Number: 1
Sub-Section 1d: 2549893370
Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498927122 Question Type: TYPING TEST

Summer camps are supervised camps conducted to entertain
as well as equip students with various life skills such as
teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development
of a child and children have fun during this process as they
get to explore new arenas.

Restricted/ Unrestricted: Unrestricted
Paragraph Display: Yes

Evaluation M ode: Non Standard

Keyboard Layout: Inscript

Show Details Panel: Yes

Show Error Count: Yes

Highlight Correct or Incorrect Words: Yes
Allow Back Space: Yes

Show Back Space Count: Yes

Actual



Group Number : 3

Group Id: 2549892326
Group Maximum Duration : 15

Group Minimum Duration : 15

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 0

Isthis Group for Examiner?: No

English Typing Test

Section Id : 2549893358

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0
Sub-Section Number: 1
Sub-Section 1d: 2549893371
Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498928769 Question Type: TYPING TEST



The banelits of vopa provide both inslanl and long lasting
transformation. In the world of fitness bhoth are exiremely
important. Yoga can changs your physical and mental
capacily quickly while proparing your mind and body [or
leng termm health, Yoga encourages overall health and
wellness. IL is nol just aboul working oul it is aboul a heallhy
lifestyle, The practice of vooa allows students to find stillness
i a world of stress. Peace and silence can e achleved with
ey proper vopd determinalion. ¥Yopa is deep breathing and
rmeditation practice that helps foster an inner soul to do
beller and light bacl: with all the problems of life. Yoga helps
relweye stress of your mind and helps you to become moro
focused. One of the benefits of yoga is that you can choose a
yvopa sbyle thal is relaled Lo your lileskyle such as hol yoga,
power yoga ets, Whether vou prefer to practice at horme or in
A private sesston thers are huge variety of options availalle to
sull your poals and necds. Strength training and Desibilily.
Yoga focuses on strength wraining and flexibkility which can
pive an incredilile benelil Gt your body, The poslures are
meant to strengthen vour body from the inside out 3o that
you don net just look good but alse feel gond too. Adapted
e Lhe basic Ashlanga yoga, power yopd raquires incraased
enerpgy, focus and strenpgth. Although power yoga starts from
the basics bul i certainly is not a basic course. Most poses are
held for fwe full breaths in comparisen to the usual one of
three hreaths. Muscles are challenged as the mind and body
have lo work logether al the same lima Lo hoeld a posilicn
without piving up. Breathing, posing. moving and increasing
fMeaxibility done together at cne time which creates a new level
ol disciplinge in yvour mind and body. IBomelrio oercises are
one of the best ways to bulld core strength. Power yoga 1ses
isomelric exarcises along with olther poslures Lthal are
desipned to make the core and hack stronper, So it 1s
important to train this area of the bhoady. In turn, you can
inerestse the strengpth and health of vour entire body.
Generally a high temperature room 1s wsed in this practice to
help keep the muscles warm and release additional toxing
[rorm the body, Tere are some of the most beneficial feature
of power yoga. [t increases survival. strength, and flexihility.
Menlal and physical slamina are Lesled through holding
postures for extended breaths, Arm and shoulder strenpth is
increased as you use your own body welght for actlon. Lats,
Lraps, and other Back muscles begin Lo supporl the spine
better than before, Abdorminals are refined and toned throeugh
building core muscles. Poslure hegins to correct lsell over
tirne, Iip flexors are stretched and strenpthoned, Glates,
gquads, harnstrings, and calves are strengthened. No matter
whal ails vour aching body or il yveuo just wanl (o lake your
fithess to a higher lewvel, the ability of power yoga to build
rscle has a positive eflfect on e tolal body.
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